Calculus 2
Dervatives of [.ogan‘thmic Functions

Differentiate the following:

1. f(x) = In(mx) 2. (%) = In(2mx)
3. F(x) = In(x?) 4. f(x) = In(x?)

5. £(x) = In(sin (x)) 6. f(x) = In(cos(x))
7. F@) = In(x?) 8. f(x) = In(x*)

9. f(x) = In(4x") 10. f(x) = In(2x%)
11. £ (%) = xIn(2%) 12. f(x) = xIn(5x)
13. F(x) = x%In(x) 14. F(x) = x*In(x)
15. F(x) = x3In(5%) 16. f(x) = x*In(7x)
17. f(x) = In(x) 18. f(x) = 3/In (x)
19. F(x) = In?(x) 20. F(x) = In®(x)
21. F(x) = 4n*(x) 22. F(x) = 5ln*(x)
23, f(x) =@ 24. f(x) = ‘“x(z")

25. f(x) = 2L 2. f(x) =202
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f(x) = In(vx)

fla) = =22
fx) = sinlin(1/x)]

f(x) = tan[in(m/x)]

f(x) = ytan (x)

f(x) = sin*(x)

f(x) — xln (x)
f(x)=Bx+5*x—-1)3
f) =2t
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f(x) = In(Vx)

fla) = =22
f(x) = coslin(1/x)]

f(x) = cot[ln(m/x)]
Fx) = x5

(x) = cos*(x)

flx) =x

f() = 2x +5)°(x — 1)?

fla) = B2
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